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SECTION - | LILEES
MATHEMATICS & SCIENCE nftra gd fasm

wiFads AR & 9l BOGEl W

1. The water droplets in free fall are spherical

-

due to IBR MAThR Fad BRU BRI © 2
(A) Gravity " (B) Viscosity (A) o (B) 2T

(C) Surface tension (@) g g-rg

{D) Intermolecular attraction (D) II=IRT3V[H BT

2. The rate constant for the first order reaction |2 yorg @ife @ usp AfAfhar o1 BN
is 60 s~ 1. The time in which it reduce the Rexi® 60s 1 T | g8 g R

. th b,
concentration of the reactant to X~ value MNP RD. BT TS ith A9 I8 99T ©

16 16
() 46 AHUSH
(B) 4.6 x 1077 dpvs

is

(A) 46 seconds

B) 46 x 1073 seconds ey

© 46x 1072 dwoss

(©) 2 Jpvga

(© 46 x 1072 seconds

{D) 2 seconds

w

A small metal ball is suspended in anl|a. g @ TPH B g AgF g @t
uniform electric field with the help of an E™AT 9 TUH9HH ﬁ% a3 H ?*I'E?ﬂé
insulated thread. If a high energy X-ray| e} g | Ife v S=g ool &

X-ra
beam falls on it N 5 FW T SRl ® 4 - Y
(A) The ball will move to infinity. (A) T 9 TR g} STy |
(8) The ball will be deflected in the direction (B) I -
e I & H R ¥ Rakg =9

© g fdfRe & anf |
(€) The ball will not deflected at all. . 1

O)lg Je@ &7 B Awig e § Rafg
(D) The ball will be deflected opposite to the arft | - TR

direction of field.
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The nucleus resulting from 222U after

successive emission of two c-particles and

four B-particles is

(A) 23 (8) 23
QSU azSRa

(c) 230 (D) 230
50T h gaPU

5. The work done in placing a charge of
8 X 107'® Coulomb on a capacitor of

capacity 100 microfarad is
) 16 X 10732 Joule

) 3.1 X 10726 joule |
© 4 x 1079 Joule

@) 32 x 10732 Joule

6. The length of a cold storage is double its
breadth. Its height is 3 metres. The area of
its four walls (including doors) is 108 m2.

Its volume will be

(A) 206 m3 (B) 316 m3

© 416 m3 (D) 216 m?

7. A convex lens is in contact with cancave
lens. The magnitude of the ratio of their

5 ‘
focal lengths is oy Their equivalent focal

length is 30 cm. What are their individual
focal lengthsincm ?

ZZE;U q QA @ T4 AR B b
PHT IO b URUTHETST g9 aTel
BlIRER

(A)

23 (B) 23

920U szSRa
(c) 230 (D) 230

so1 D a;PU

100 AEPhYE aRar & dERE A
8 X 10718 PeIM BT AN W § B
/amraﬁr-

A 16 x 10732 Y

B 31 x 10726 I

© 4 x 10710 o

® 37 x 10732 9

TH AN U W AN SOE AR @
AW TSR Sas 3 WL R | swe
IRI PART (SRA™IT GfRd) BT ST6d
108 © | 99 W &1 IgEq = -

(A 206 & B) 316

© 4164 ) 216#°

TH A o 3Jqdd o b TUh F ¥ |
SO Bled  gRAl b U @
gRAToT %%lsﬂaﬁmtﬁwgﬁ

30 AW T | TS TS B g
. # Bl -

(A) -75, 50 (8) -10, 15 (A) -75, 50 (8) -0, 15
(€ -15,10 (b) 75, 50 (© -5 10 (D) 75, 50
Page: 3
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10.

1.

12.

13.

In what ratio does the point (-4, 6) divide|s
the line segment joining the points A(-6, 10)
and B(3,-8)?
(A)3:7

©4:9

(BM:S
D) 2:7

At the magnetic poles of the earth, a
compass needle will be

(A) Vertical (8) Bent slightly
(©) Horizontal

(D) Inclined at 45° to the horizontal

Realvalueofxandylfx 1 y-1

—:1

3+i =]

(A) -2,5 (B)4, 6.
(© -10,12 (b)7,-7

ap n n
If Pr =N ., and €= Cr+1, then the
valuesof nandr
(A n=2r=3 B)n=3,r=2
(@ n=4,r=5 Py n=5r=4

If a body loses half of its velocity on
penetrating 3 cm in a wooden block, then
how much will it penetrate more before
coming to rest ?

(A) 2 cm

(© 3cm

(B) 4 cm

(0) 1 cm

The molarity of pure water is (density of
water=1gm L
(A) 66.66 M

(€) 44.4Mm

(8) 45.55 M
(D) 55.55 M

—_

® A fawgall A6, 10) T B(3, ) g

3

WS qTel YEES B RTG (4, 6) fag
ST 3 dfe -
(A} 3 : 9
€ 4 :9

Rl b gEeY gdl ® G SN 3§
s et -

(B) 4 :5
) 2 :7

(A) FHeafe

) Tt ¥ gt g

O s

0) &fT ¥ 450 W g g

-qﬁx ! L_I: Fﬁxeﬁ_\'ym
341 3—i

IRF a9 BRI -

(A) -2 5 (B) -4 6

© -10, 12 o) 7, -7

s "B="P ncr=ncr+1Fﬁ

neﬁ'\’rﬁqﬁm—

AW n=2r=3 B n=3r=2

© n=4r=5 P n=5r=4

M TF T T F T oEs W 3

W dE F o am W@ od § A w

B AR W e P B

H 31 WY 2
A 2 em ®) 4 cm
© 3 cm ®) 1 ¢m

1gm L™

(A) 66.66 M (B) 4555 M

© 44.4 M (0) 55.55 M
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" In a single throw of three dice, the

probability of getting a total of 5
A 5

| 1

216 216
© 5 o) 1
108 36

15. The number of moles of KMnO, that will

be needed to react completely with one
mole of ferrous oxalate in acidic solution is
(A) 2 (8) 1

(€

i) A o

o)y 3
5

6 In a AABC, AB =6+/3 cm, AC = 12 cm and

BC =6 cm, then the angle B is
(A) 45° (8) 120°

(© 9g° ) 60°

17. The value of x in the following series :

1+6+11+16+.......+x =148
(A) 39
() 38

(8) 36
(b) 37

8. A particle is projected at 60° to the

horizontal with a kinetic energy K. The
kinetic energy at the highest point is

“ @ I F THa ST § P AT 5
I B A B -
W 5

(8) 1
216 216

(© 5 o 1

108 36

5 KMno, ® A&l B TEm W ey

Rl & 1 Ad A i Ao 3
it B & forg emavs &

(A) 2 (8) 1
5

© 4 (o) 3
5 5

6 U6 BS AABC % AB = gy3 ¥, AC
= 12 ¥ =M BC = 6 IW B @ 107 B

BT JH BRI
(A 450 ) 120°
() 9Q° (D) 60°

17. feforie Soff % o &1 w9 2r -

1+6+ 1M1+ 16 +

........ + ¥ = 148
(A) 39 (B) 36
(C) 38 (D) 37

®TEH HU K TR ol ¥ AR [ goe
DU W USRG fH S € @ segaw

. fdg w® it ot @nft -
(A) K (B) zero (A K ®) 3
o K {0} % © K ) K
2 4 2 4
Page: 5
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19. A body cools from80°C to64°C in 5
minutes and same body cools from 80 °C to
52°C What

temperature of surroundings ?
(A) 28°C (B) 22°C

in 10 minutes.

is the

© 25°C (D) 24°C

20. Which of the following behaves both as

nucleophile as well as an electrophile ?
(A) CH;Cl (8) CH;0H

(© CH,CHO () CH,CN

21. An artificial satellite moving in a circular
orbit around the earth has total energy [PE +
KE] E,.Its potential energy is

19.@%800cﬁ64°cﬁm5
e # g & o 98 P 8o °C ¥
cyoc qE ovel 10 fe H OB §

AR % qreaRe o1 a1 & -
(™ 28°C ®) 22°C

© 25°C (o) 24°C
g ¥ @ o9  TNeEd @
Foge e aFl B TRE B FRAT 8 2

(A CH,Cl ()  CH,OH

20.

(© CH,CHO (@  CHyCN

21.

® E, ®) —Ey e R &t 8t -
© 2E, ) 158, By Bo @k
© 2E, 0 15E,
22. Nessler’s reagent is used for the detection of | 22 TGRA ANHHD BT IEENT Il T &
(A) Na* 8) cu2+ forg g ®
. (A)  Nat (B)  Cu?t
© KV (o) NH; :
© Kt ) NH}
2. Rootofthe equation 3x2 4 7ix+6=0 |2 THHIOI ' 32 +7ix+6=0 & qd
A 2 (B) " g : '
e 3i,=i & -
3 2 (A) 2 ® _ 3
—3i,—1 3, =i
K 2 (D) 3i, 2i 3 2
21,—1
3 o 2 (D) 3j, 2j
21,=1
3
Page: 6
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24.

Which of the following is not a colligative | 2. r=fofeg & @ VRS 0T TET § -
property ? (A FqIH B I=IT
(A) Elevation in boiling point B) qrETe BT iR
JqTHT
© g fharsferar
(0) fRATH BT 3TgTAA

(B) Relative lowering in vapour pressure
(C) Optical activity

(D) Depression in freezing point

»if tanx+secx = 43, such that |25 gy
0 <x <m, then xisequalto

tanx + secx = /3, V&
0<x<m A x & A4 &N -

T
(A ™ (8) 5m (A T B  5m
3 6 3 6
© 2m (o) T © 2m () T
3 6 3 6

2. Three masses are placed on the x-axis : 300 | 2. &9 Tagar x|, 300 gm BT FA

g W, 500 gm @1 5 = 40 T w®
T 400 gm BT x = 70 ¥ R @ T

gm at origin, 500 gm at x = 40 cm and 400

gm at x =70 cm. The distance of the centre

of mass from the origin‘is

(A) 30 cm (8) 50 cm gﬂ% P ST B g B 9 @
(€) 45 cm (D) 40 cm (A) 30 @F-ﬂ (B) 50 ﬁfﬁ
(© 45 I, (D) 40 I,
27. Which ore contains both iron and copper ? |27 f6g UH JAP § gl 997 dieT S0 Y,
(A) Malachite ~ (B) Chalcopyrite (8) Hetarse (B) ATePHIIRRIES
(©) Chalcocite (D) Cuprite v (O FrepraTEe (0) RTSE

2. The perimeter of a triangular field is 450 m |25 Tes fqoMeR &G &1 URWY 450 & 2
and its sides are in the ratio 13: 12 : 5. The| T @ 4ol &1 U 13 : 12 : 5
area oftfmé/triangle g | PYTeR Wq & 8% 8N -

W 5670 m2 () 6750 m? A 5670 =2 B 6750

© 6570 m? () 7560 m> € 65704 0O 7560

7

é
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29

30.

31

32.

33.

CH, -c':H —CH, ~OC,Hg
is

OH

(A) 1-Ethoxy propan-2-ol

" JUPAC name of

(B) 3-Ethoxy propan-1-ol
(€) Ethoxy pentanol
(D) 2-hydroxy-3-pentanone

In Friedel Crafts alkylation, besides AlCL;,
the other reactants are

W CeHg + NH; (8 C.H, + CH;Cl
(© CgHg + CHyCOCI

(0 C¢Hg + CH,

A bomb of mass 9 kg explodes into 2 pieces
of mass 3 kg and 6 kg. The velocity of mass 3
kg is 1.6 m/sec. The kinetic energy of mass 6
kg is

{A) 9.6 Joule
(©) 1.92 Joule

(B) 2.92 Joule
(D) 3.84 Joule

Percentage errors in the measurements of

mass and speed are 2% and 3% respectively. |

The error in the estimate of kinetic energy
obtained by measuring mass and speed will
be

(A) 8%

€ 2%

(8) 10%
(D) 12%

If =3 - zﬁ,t?en - ! %will be
(8) 36
(0) 30, .

(A) 24
€ 34

I

A

29,

30.

31.

32.

CHs ~CH-CH, ~0GHs 357 1upAC T
OH

(A) 1-gaifeRft Sire-2-3ifel

(B) 3-yeffeRfy WYUA-1-3iTe

(O goiferft FeAreT

(0) 2-FTEGIRA-3-UeHM

WiSel BT & TedhleldHo ¥

F eTgT ANPRD & -
(A} CgHg + NH,

AlCL,

(8)  C¢Hg + CHsCI

(©  C¢Hg + CH,COCI

() CgH, + CH,
9 kg T B TP 99 favple & q€
3 kg IR 6 kg & 7 THST F dear ¥ |
3 kg SM @1 A7 1.6 WAL T 1 6 kg

SUA DI TIfeT Sl BRI -
(A) 9.6 SeT (B) 2.92 ST
© 192 et (D) 3.84 e

T AR AT P AT H HIT 29
AR 3% B U g Ah T | e
AR T & AYT G W A o

(A) 8% (8) 10%
(© 2%. (D) 12%

33.

4

?If%ng_zﬁe‘ra‘rxul%mm

BT -
(A) 24 () 36
© 34 (0) 30

382
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34.

35.

36.

37.

The half-life period for a zero order reaction
is equal to

) 0.693 ® [Al,
K[Al, 2K
(© 0.693 o) 2K
K [Alo

If the arcs of same length in two circles
subtend angles of 60° and 75° at their

centres, then the ratio of their radii
(A) 4:7 B)6:7

©5:4 (D)7:8

If pendulum bob on a 2 metre string is
displaced 60° from the vertical and then

released, what is the speed of the bob as it is
passes through the lowest point in its path ?
(A) 4.43 m/sec ) \/i m/sec

@ 2 x98m/sec D 1

VZ

m/sec

The length of the minute hand of a clock is

14 cm. The area swept by the minute hand
in 5 minutes. ]

154

(A) 154 5 (B)
—— ¢cm — cm?
6 ) , 3

{© 154 () 154 3
— cm* — m
12 9

Which of the followmg As not a good
conductor ? &

(A) NaCl(s) |
(© NaCl(aq)

(B) NaCl (molten)

lD) Cu metal

1
AR

34.

35.

36.

of.

38.

[ PR B affea & R o 9N
PIA TRIET ¢ -

(A 0.693 ), [Al,
K[Alo T

© 0693 T 2K
K i [Al,

WM oI d AT QY gl b g W
60° 3R 75° & DI g & o S g
o Bregrelt &1 eua B -

(A) 4 :7 B) g :7

@ 5: 4 (D) 7:8

UG TF UYrged 19 S 2 W B S A
497 &, P SR W goe W of OHR

Bls f&ar Srar ? | df9 @1 oo v W
e fdg & ToRT W) & = B 2

(A) 4.43 | ® 7 AR
© yzx98 AR © 1 HF
V2

F B B e Al g B awE 1
T g | e 9l g8 & gR 5 fFe §
Fax By MY & BT &ABe BRT -

(A) 154 (B) 154
— 2 — 3

3

() 154 (D) 154
— — R

12 9

freforRed # ¥ @9 a1 qids T8 § 2
(A) NaCl(s) (8) NaCl (Rewge-

(@ NaCl(aq) ) Cu &g
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39. A 25 watt-220 volt bulb and a 100 watt

-220 volt bulb are joined in series and
connected to the mains. Which bulb will
glow brighter ?

(A) 100 watt bulb

(8) Both will glow with same brightness

(©) First 25 watt bulb and then 100 -watt
bulb

(D) 25 watt bulb

. Which of the following does not-have a
metal carbon bond ?

(A) AlI(OC,Hc); B C,H;MgBr

© Ni(CO), (0 K[Pt(C,H,)Cls]

MIIRNIN

30.

40.

Q)

25313—220%35[@@@109
are 220 diee F R aed U AMEA A

Sreaw @ Rad (F WR) W AT
S & | P ae s FEe 2

(A) 100 gTc BT dcd

®) S qeg A D |

(©) Ugel 25 dTe @ g9 fhY 100 dIC &I
qed

(D) 25 qic @I ded

frefoRad § O v arg-dd dg &

g7

(A Al(OC,Hs); ®  CH;MgBr

Ni(C0),

®  K[Pt(C,H,)Cl,]

:
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39. A 25 watt-220 volt bulb and a 100 watt|39. 25 gre -220 qrec @I @ ded i 10:_{
-220 volt bulb are joined in series and are 220 dlee & g\ﬂi’ qed U AUNHA
connected to the mains. Which bulb will e T Reg (A IAY) LSS

glow brighter ? ST & | e @ 99 e FHB 2

(A) 100 watt bulb (A) 100 dTC HI dod

(8) Both will glow with same brightness (8) AT god A g |

(©) First 25 watt bulb and then 100 watt| (¢ gger 25 qre &1 ded fh 100 dIC B
bulb dcd

(D) 25 watt bulb (D) 25 gr€ Pl dcd

. Which of the following does not have a4 frefaRea # X1 frd grg-Hied 49 a1

metal carbon bond ? g7
(W AI(OC,Hg); (B C,H MgBr (A AI(OC,Hs); ®  C,H;MgBr
© Ni(co), o) K[Pt(C,H,)Cls] ©  Ni(co),

‘(D) K[Pt(CZ H4)Cl3]

|
H i C
| 1 &collegedunlas



SECTION -1I
CIVIL ENGINEERING

#1.In chain surveying field work is limited to

{A) Linear measurements only

(8) None of these

(©) Angular measurements only

(D) Both Linear measurements and Angular

measurements

42. Hard solder is an alloy of
(A) tin and lead

() copper and zinc (D) All of these

43 In lettering, graph size of letter J".is
(A) 5x5

(€ 3x5 (D) 4x5

44. Binding material is

{A) Cinder {8) Coarse sand

(©) Bitumen (D) Stone grit

45. Crown glass is used
(A) Glass tube

() All of these

46. Back bearing of a line is equal to
(A) fore bearing + 180°

(8) fore bearing + 90°
(©) fore bearing + 360°

(D) fore bearing + 270°

(B) None of these

(8) None of these

(B) Electric bulb

(D) Window panes

41.

42,

‘I]TII..“
g adeor ¥ & o Wit g
(A) Fger IET AT P
®) et @ g
(© Pad PRI AT &
(0) Y& gd Pofig 79 EF S

FHOR dioex feaa! fsmrg € 2
(A foq1 3R <ie

0 @R AR Rie © F wd

JeRip B I B UE AR ©
(A) 5 x 5

(B) g7 § g Tl

G gt & o1 T

© 3 x5 (D) 4 x 5
4. gyd yord B

(A) IR 8) Hrer 97

O fgfm () geer & firedt
45. BT TATT YA Pl ST 8

(W) 7T T (8) fagrd dod

© ¥ g 0) fa=er U9
4. foelt a1 B U &AM &1 A9 B« ©

() oy &P + 180°
(®) 31 feHH + 90°
© s fRFHT + 360°
() 31 P 4 270°

Page: 11
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47. Pjle foundation are suitable for

48.

52.

53.

MR

(A) None of these (8) Compact soil

(c) Water logged soil (D) Soft rock

The local swelling of finished plaster, is
termed
(A) Blistering

(€) Hacking

(B) Cracking
(D) Dubbing

. Foam glass is used for

(A) Fire proof (8) Heat insulator

(€) Both Fire proof and Heat insulator

(D) None of these

. Types of varnish is

{A) Oil varnish (B) Water varnish
(C) Both Qil varnish and Water varnish

(D) None of these

. Object of seasoning of timber is

{A) None of these (8) Increases decay

{©) Reduces decay (D) Reduces strength

Soil pipe in plumbing services means a pipe
{A) carrying waste water from water closet

(B) carrying water
{Q) carrying industrial waste

(D) carrying solid materials

Weight of one bag cement is
(A) 30 kg. (B) 20 kg.

(@ 25kg. (D) 50 kg.

48.

49.

50.

51.

52.

53.

g, wIree} &1 pell

(€ Sief ¥RTg drefl T

(0) Hg T

Hel odl &
(8) TR TSI
() sfdT

(A) BPel TSl
(€ gfFp

W T BT TGN fRaT ST ©
(A) arf=RE (8) AR

(© R qer SERE I

(D) g A Bl 7Tl

qi<er & YR ©

(A) el gifer (B) gl qrf=ier

(©) 3ifger SR 9 arfer

©) g9 A g oI

ferar @1 e (i) @ Seew ©
(A)'ﬁﬁ?}riﬁéﬁ'ﬁ

(B) &RUT B g |

(€) &RUT BT HH HRAT |

(D) JrRA B B BT |

JaeR ¥ WA YS9 H1 9N fhar

SIGI
(A) T & U g9 & "are # |

8) gy & ware ¥ |
(© girenfire e & yare ¥ |
(D) 3RT ygrf & YA H |

TP I WIS BT qo &

(A) 30 kg. (B) 20 kg.
(@ 25 kg. () 50 kg.
Page: 12
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. The foundations are placed below ground
level to increase

54.

Ha &1 Fefr R daa @ A /T
o & fore far <mar € 2

(A) Strength (8) Workability (A) T (B) Tl
(C) Stability of structure ©) g & el
(D) All of these ®) I f
55. The window which is provided on a sloping | 55. g« ) e BAd W TS 9 dreft
roof of a building, is called Resat &
(A) Lantern window (B) Casement window (A) ofesf Rasa) (B) = Raga
(c) Bay window (D) Dormer window © 9 Resah (D) IR Raeat
5. The platform at the end of series of steps, is | 5. S # FHewal I THRT R QeH™ @
known as EI SIS
(A) Platform (8) Stop (A wewE™ (B) &g
(©) Landing (D) Rest (© & (D) ¥
57. The depth of excavation of foundation is|57. Hig &Y TETS AT AT oy £
generally measured with (A) s BT
(A) Steel tape (8) Levelling staff ®) Levelling (@) =T
(C) Bonning rod (D) Ranging rod © T e (D) IR IS
58. Main ingredient of Distemper is 58. fSCAR @7 I 3Jq4q §
(A) Chalk (B) Cement (A) greH (B) vz
{€) All of these (D) Lime © 3J 9f (0) T
59. Reinforcing material is 5. Uge g1l ¥
(A) Castiron () All of these (A) Tordl aTET (B) J it
(©) Mild steel (D) Cement Q) ¥g s (D) fHue
8. Awell-conditioned triangle has no angle less | &0. gaiify st & @107 &1 w9 o7 &
than | BF Ry \
(A) 20° (B) 3Q° (A) 2Q0° (B} 30°
(© 60° (D) 45° © 60° R 45°
Page: 13 o 592382
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61.

62.

63.

65.

No. of bricks in 1 m?3 brick masonry
(8) None of these

(D) 500 nos.

(A) 400 nos.
{©) 300 nos.

A trap is provided in kitchen for waste water
(A) Gully trap (B) Intercepting trap

(C) Floor trap () All of these

Plotting of in-accessible points on a plane
table is done by
(A) Radiation

{C) None of these

(B) Intersection

(D) Traversing

Representative fraction is equal to
(A) Distance of object

Distance of Map

{8) Distance of Map

Distance of object

(€) All of these

(D) Both and

Distance of Map

Distance of object

Distance of object
Distance of Map

Grades of cement
(A) 53 grade

(c) 33 grade

(8) All of these
(D) 43 grade

Pozzolana is
(A) Cement (8) Bitumen
(€) Surkhi (D) Sand

61.

62.

63.

65.

66.

Wmﬁwﬁﬁﬁm%

(A 400 ® e 4 T T
(€ 300 (D) 500

fer & g o PRl # sd @
yanT fbar SE ® _

(A) T T (B) gUERAUTET §U

© FAR 2T () I I

mﬁgﬂ*{ﬁﬂ@ﬁ@?@?éﬁaw
fpar iran

(A) ffxor fafr |
8) yfesed Iy w0

(© T8 q PIg Tol

(D) HraT-¥@or ffy |

fregs e &1 A9 ©

(A S BI gl (B) GBI Gal
TR DIl SHA B gL

© I i

© . FTRAG . FHADI
ﬁamﬂﬁgﬂ S TR B G

e & s ©

(A) 53 Ts (B) J

© 33 U (D) 43 IS

QAT §

(A) ¥fHue (8) faghe

(0 it (D) qre]

MR
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67. If Whole Circle Bearing (WCB) of a line is
120°. Its Reduced Bearing (RB) is

(A) S30°E (8) S60°E

(© N60°E () N120°E

. To construct a 10 cm thick wall, you will
prefer
(A) English bond

{€) Flemish bond

(B) Stretcher bond
(D) Header bond

. The least count of Vernier scale is
(A) value of one division of main scale
divided by total number of divisions of
Vernier scale.

(8) All of these

(C) product of the smallest divisions of main
and Vernier scale.

{D) sum of the smallest divisions of main-and
Vernier scale.

70. Dumpy level is used for

(A) Chain survey (8) Levelling

(©) None of these (D) Compass survey

71. Planimeter is used for measuring

(A) Slope (B) Area

(©) Volume (D) None of these

72. Luminous paints contains

(A) Radium (8) Calcium sulphide
(©) Calcium sulphide with varnish

(D) None of these

/

67.

68.

69.

70.

1.

72.

wlga s (WeB) # Rt ¥ @
@A 1200 & | Reges womelt (RB) #

@ 31 fegAaa g

(A} S30°F (B)  S60°E

(© N60°E (0 N120°E

10 cm tﬂ'cfr TR 1 & ford @™
AT HEAA

(W) SR =T (B) &R aTed

(© wifyer a1 (D) BeX AT

R @1 IuTHP ©
AW WE F TH @M P AF / afiaR
MM W 99 @M P 9@

®) J it

O7ey @ R WM & @99 Bic
@WHl BT OFHA

Oy ¢ R WM & e B
@l BT AN

Dumpy level &1 TR fHar Sier &
(A) 9 TdeoT (B) eigfeit

© i % o

(D) T HdET

@HReR &1 9AnT fha S §
() g A § (B) &F%e "IN H

(© Iad A9 H (D)sﬁﬁﬁéﬂﬁ
g U § femr S

(A) ISTH

(B) HfeaH ThISS

(0 Ffexraw Teplgs ar fed

(D) TN A P LI

R |
AR
R
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73.

74.

75.

76.

78.

79.

Which material has less hardness ?
(A) Quartz (B) Feldspar

() Topaz (D) Diamond

Sound absorbing material
(A) Mat (B) Straw board
(€©) Both Mat and Straw board

(D) None of these

Figure represents

(B) Centre line
(D) Object line

(A) Long break line
(€) All of these

In setting up a plane table at any station
(A) centering is done first. :

(B} levelling is done first.

(@ both levelling and centering are done
simultaneously.

{D) None of these

On a diagonal scale, it is possible to read up
to

(A) four dimensions  (B) two dimensions

(©) one dimension (D) three dimensions

Angle less than 90° is known
(B) Right angle

(D) None of these

(A) Acute angle
(©) Obtuse angle

Chemical formula of Gypsum is
(A) CaS0,-H,0 (8) CaSO,

(c) 1 D i
CaSO4-5H20 (d) CaS0,-2H,0

A

73.

74.

75.

76.

7.

8.

79.

T waTel @ wERE P (R € 2

(A)m (8) PoewWR
© s (D) SEHS
&g 3raR1ef) ugref
(A) ¥ (B) w1 9IS
(© ¥e g w71 9 qHl
®) e @ B T
5 2 sl
HAT T
(A) il Ay AT (B) Jex T
© F i (D) Jfrae ATEH

fel oM ® T 2R H g g
foar <ren &
(A) &g gEar (B) {HTAT Ugel

© AT 9 F5u1 ATy
D) 398 q PIs =TS

s A9t & yer W7 9ear
(A) ¥R i (8) 7Y fauig

© ve fady (®) I fasirr

90° ¥ BT IV HEATaT &

(W) =7 Bor (B) JreepYOT
(© 3RF ProT (D) T q PIS T8

R &1 e @ @

(A) CaSO4_ s H2 O (B) CaSO_L

(C) 1
CaSO4 * 5 H20

(®)  CaSO, - 2H,0
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s0. Chemical formula of Potash lime glass is 80.

(A K,0-Ca0 - 6Si0;
(8 K,O -Pb0O-6Si0;
(© Na,0-Ca0- 65i0,
(p) All of these

s1. Length of scaleis equal to

(A) R.F. x Max. length (8) R.E
Max. length

1

9 g % Max. length
R.F.

{D) All of these

. Theodolite is used for measuring 82.

{A) All of these
{C) Vertical angle

(8) Horizontal angle

(D) Bearing

In building the damp proof course is|8s.
generally provided at :

(A) Ground level

(©) Lintel level

(B) Water table level
(D) Plinth level

Number of links per metre length of a chain | &.
are

(A) 8
©3

(8) 10
(D) 5
85. If the height of the first storey building is|85.

3.25 mand riser is 13 cm., no. of treads is
(A) 23 (8) 26

(©) 24 (D) 25

eTaeTER T P IS T €
(A) Kzo & CaO * 65102

(8) K,O -PbhO-6Si0,
() Na,O - Ca0 - 6Si0;5,
©) F

. A B TS

A Freue e x f¥GaH oH=ETe
(B8) frEud -
Jifpan T

1
feg® i
(0) ¥ i
Rrileidree &1 WAN & S
(A T
®) Ay ProT 7O H
(© Feafer PYOT AT A
(o) RepaE A9+ H
waat ¥ e A IG&T AT Al E
W) afy T W
(B) S arfeidl ddd R
(@ fived da ® (0 FH 9 W
aﬁaﬁwﬁaaméﬁm%ﬁ(nnks)
Bl ©
(A) g
) 3

(©)
% B TS

(8 10
(D) 5

I vEd AR ¥Wed B Fas 3.25 m

Td USSR 13 cm BT B A $8 D GEAT
BN

(A) 23 (B) 26
€ 24 (D) 25
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86. Manhole is constructed in

(A) Drain (B) Public sewer

(C) River (D) None of these

87. Least count of a Vernier theodolite is

(A) 30’ (8) 10"

© 20" (o) 30"

8s. Metric chains are generally available in

89.

() 25m & 100 m
D)20m&30m

(A) 10m & 20 m
€ 15m&20m

According 1S-1967, size of A4 drawing sheet
inmmis «
(A) 148 mm x 210 mm
{8) 297 mm x 420 mm

{€) 210 mm x 297 mm (D) All of these

. Queen closer may be placed

{A) Both In header course and Stretcher
course

{B) In header course

(€} All of these (D) Stretcher course

Fly-ash can be used
{A) Mass concrete

{8) Cellular concrete blocks
(©) Fly ash bricks (D) All of these

The brick laid with its length parallel to the
face of a wall known as

86.

87.

trrever 1 Fator fean ST &

(A) ot H (8) gfersd Wax #
© = § (DT F DS T
affR PRI &1 JeaHs §
(A) 30’ (8) 10"

© 20 (©) 30"
Hlex oY SuaE ©

88.

89.

(W 10 # 3R 20 A
() 25 # AR 100 H
© 15 7 3R 20 #
(D) 20 #t 3R 30 #

I1S-1967 & IR A4 gIsT die @ A9
mm ¥ ®
(A) 148 mm * 210 mm

(B) 297 mm * 420 mm

(© 210 mm * 297 mm
D) J Tt

9. T FoloR @l ST ©

91

(A) ¥R 9 TAR Iqa A
(8) TeX 352 A
© ¥ gf (D) ¥oR e |

- ToATs NI BT WA b ar ®
(A) weT bole

{B) IR Hplc Cid

(© werrs Q@ o (@) A Wl

%2 $T B JEE, WAR D THE GdE b

TR G O, 39 Ped ©

{
i
i

(A) Stretcher (8) Closer (A) FER (8) FATSR
(©) Header (D) None of these € gev (D) 399 A BIS el
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g3, The dimensions of Queen closer is 3. g9 TSR T HIT
(A) 9cmx9cmx9cm A 9 cm*x9cm * 9 cm
(8) 19cmx9cmx9cm B 19 cm>*9cm* 9 cm
() 9cmx4.5cmx9cm © 9 ¢cm > 45cm %9 cm
(D) 19 cmx4.5cmx9cm ) 19 ¢m * 4.5 ¢cm * 9 cm

os. Rolled steel section ‘ISNT” is read as . dfecTd ST WU ISNT' &I YT <rar
(A) All of these (8) 1.S. light T-bar g
(©) 1.5. Normal T-bar (D) 1.S. Junior T-bar (A) g

(B) YR AFF BAD! CI-BS
(€ YR 996 9ER -5
(0) YR TS B v

95. Dado is usually provided %. SSI B AT Al &
(A) Living room () Dinning room (A) fafdT w7 # (B) Trafeim 9 #
(¢) Bathroom (D) Roofs (© grored & (D) &g ¥
%. A wooden block hinged on post outside a|%. FHSI BT [CHI TSl B 9Re H 9TEY
door is known P Grss A Dldibd fHar W B, S
{A} None of these {8) Horn ]
(©) Cleat (D) Stop (A g7 9| IS el
8) g
() T D) T

o7. The type of bond in which every course|9”. Wi§ T® & GG H TeX d WA THl Bl
contains both header and stretcher is called TRT T AT € A (diS) Fednil ®

(A) English bond (B) Flemish bond (A) 3<t 9T (8) TATHIT AT
(©) All of these (D) Mixed bond © I a9 (o) fAf3g a1t
98. Figure represents % RF YT Hvar &
(A) gTaT ¥
{A) Outline (B) Cutting plane line (B) HFEAT W ¥

(C) Object line (D) Short break line (©) gifsorge ¥l (D) B Y G

Page: 19 592382
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99. The ceiling height of a building is
(A) upto roof
(8) between ceiling and floor level
(©) between ceiling and ground level

(D) All of these

100. In levelling, station
(A) where level is kept.

(B) where staff is kept.

(©) level and staff are kept.

(D) None of these

1oo.éﬁﬂﬁ@3ﬁﬁm'§ﬁﬁw
») afie & T |

(8) % & © |

© Affer 9 TP M WA T |

(0) g & PIg Tl
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